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The BLOSUM matrices are used for scoring substitutions in :

{A) Aminoacid sequences (B) Carbohydrate sequences

{C) Lipidsequences (D) Amino glhycoside sequences

Which of the following steps is blocked by Actinomyein IV in prokaryotes and Eukaryotes 7
(A) Inhibiting initiation stepofreplication (B) Inhibiting terminating step of replicabion
(C) Inhibiting elongation step of transeription (D)) Inhibiting elongation step In Transcrplon
ASCH acronym in computers stands for :

(A) American Subscriber Code for Information Interchange

(B} American Service Code for Information Interchange

(C) American Standard Code for Information Interchange

(T American Standard Code for Interventional Interchange

While scripting 2 programme in Perl language a statement ends in :

(A} Colon (B) Semicolon

() Nopunctustion marks needed (D) MNumeric characiers

The overall process of anacrobic glycolysis in muoscle yvields :

(A) Thirtysix ATP3 (B) SixATPs

{C) FourATPs Dy TwoATPs

All of the helow mentioned radioactive isotopes emit B-type of radiations except :

{A) 'H By “C

':C] HSI [D:l '.5-P

Homologous proteins from different species that possess the same function are called ;
(A) Orthologs (B) Paralogs

(€) Metalogs (D) Analogs

All of these are troe for relational database except :

(A) Itfollows FL.F Codd’s rules

(B} Itisaseries of mathematical steps not necessarily in any logieal order

(C) The rows correspond to record, the columns correspond to attributes

() Theseused structured guery language for data defimtton

The RNA molecule can be present in all of the following forms except :

(A} Riborymes (B) smoRNMA

(C) miRNA (D) Ribomuclease
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While making a gel for electrophoresis, the polymerization reaction of acrylamide to form polyacrylamic
i :

(A) Initiated by bisacrylamide and catalyzed by persulphate

(B} Inifiated by persulphate radicals and catalyzed by TEMED

(C) Initiated by Tris and catalyzed by persulphate rudicals

(1) Initiated by TEMED and catalyzed by bisacrylamide

Which of the following statements is not true for mucopolyvsaccharides 7

(A) Polysaccharides with viscous jelly like consistency

(B) Present inconnective tissue

{C) Contain O-glycolipid linkages

(D) Contain O-glycosidic linkages

Iysosomes contain which of the following enzymes T

{A) Kinnses (B) Lynses

(C) [igases (1) Hydrolases

All of the following statements are true for plasmids except:

(A) Theseareselfreplicating

(B} Theseare extra-chromosomal DNA molecules in bactena

(C) Theyusually confer a specialized charactenstic to bactena

(M) They are always found in association with plasma membrane

One complete round of eitric acid cycle vields :

(A) Twomolecules of CO,, one NADH, three FADH., one high energy compound GTP
(B) Twomolecules of CO,. three NADH, one FADH, , one high energy compound GTT
() Two molecules ol CO,, three N ADH, one FADFH,, two high energy compound GTE
(D) Two molecules of CO,, one NADH, one FADH,, two high energy compound GTF
The DN A double helix as described by Watson and Crick model is composed of :
(A) Two parallel complemeritary strands

(R} Two antipasallel complementury strands

(€} Two strands in parallel noncomplimentary aipha helix conformation

(D) Two strands in antiparallel noncomplimentary alpha helix r:unfunﬂnﬁnn

In the DNA replication process each okazaki fragment must be initiated by action of which of
following enzymes 7

(&) Helicase (B) DINA gyrase
(C} DNA polymerassl (1)) Primase
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As a part of the electromagnetic spectrum, which of the following has the highest energy 7

(A) Infrared (B) Microwave

(C) X-ray (D) Ultraviolet

Which of the following eould be considercd as the best method for ascertaining paternity 7
(A) DNA guantification B} DNA fingemprinting

(C) RNA quantification (D Protemn fngerprnting

The First deaft of human genome sequence was released in

(A) 1595 (BY 2000

(C) 2001 (D) 2003

The first biological sequence database was a :

(A) Mucleotide sequence database

(B} Protein database

(C) Dalabase containing nucleotide as well as prateins

(1) Databasc containing nucleotides, proteins and other biomacromolecules

Motif in a protein structure is

(A) Proimary strucmire (B) Sccondary structure

(C) Supersecondary structure (1) Tertiary stnacture

The proteins functioning as gene expression regulators do 5o by

{A) Influencing the DNA polymerase catalysis (B} Activation or repression of RN A polymerase activity
(C) BindingtomRNA 0 synthesize it ordestroy it (1)) Bindingto rRNA 1o synthesize it or destroy it
The first algorithm for comparison of protein and DNA sequences was published in 1970 by :

(A) Mesdleman and Wunsch (B) Smith and Waterman

(C) Altschul ef af (D) Pearsonand Lipman

The nucleotide sequence data retrieved from a database can be in all the following formats, except :
(A) ASN.1 (B) FASTA

(C) GenBuank {3} PDB

The data presentation in a PDB file has :

(A} Each line 60 columns wide and is terminated by a number

(B) Each line B0 columns wide and is terminated by a number

(C) Each line 60 columns wide and is terminated by an end-of-line indicator
{1y Each line 80 columns wide and is terminated by an end-of-line indicator
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The selection criteria of the PAM matrix construction algorithm variants will be governed accord
to :

{A) PAMI and PAMI00 are both suitahle for closely related sequences

(B} PAMI and PAM100 are both suilable for distantly related sequences

() PAMI and PAMI(0 are suitable for distantly and closely related sequences, respectively
(D) PAMI and PAM100 are suituble for closely and distantly refated sequences, respectively

Which of the following programming languages was used initially for scripting UNIX operat
systems 7

iA) Fortran (B) Java

{C) Assembler (13 Per

Which of the following processes can be inhibited by rifampicin in E.Coli ?

(A} Elongationof peptide chains (B} Replication of deoxyribonucleotide sequences
{(C) Transcription of RNA sequences (D) Translation of RN A scquences

The small unstained specimen of living cells are best visible in :

{A) Phase contrast microscope (B) Flurorescence mucrascope

(C) Bright field microscope (D) Electron micmscope

Which of the following bioinformatics programs ean be used for predicting the transmembrane don
of a receptor 7 -
{A) TMHMM (B HMM

(C) MM D) MM

Tdentify the Global alignment algorithm for database searching :

{A) Meedlemanand Wunsch (B)  Smithand Waterman

(C) BLAST (D) Fasta

Thiaminc is a :

{A) Water soluble vitamin (B} Fasoluble vitamin

(C) Pyrimidine (D) Punne

The database InterProisan :

(A} Integrated Resource of Protein sequence and classification
(R) Integrated Repository of Protein and DNA sequences

(C) Integrated Resource of Proteins classification only

(D} Ttegrated Repository of Protein and DNA classification
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Identify the mismatch pair of functional group and amino acid : .

(A) [midazole-Histdine ) Cuanidino-Argimine
() Imino-Proline (1) Indole-Phenylalanine
. What is the molar concentration of HOH species in purcwater 7
(A) S0.0M (B) 50.5M
(C) S5.0M (D) 355M
Which of the following cannot be used for culturing embryonic organs ?
(A) Plasmaclots (B Media modified with agar
(C) Fluid media {2y Media modified with acryl amide
Which of the following was first published complete genome sequence
(A) H Pulori (B) Elali
(C) H influenzae (D} 8 cereviviae
Water as a nonlinear, polar molecule can serve directly all of the following functions in cells, except :
{A) Ttisaneffective solvent (B) Itisareactant molecule
{C) Ttcan generate H or OH ions (D} It can generate Hydnde soms

. Which of the following statements is not true for features of Protein Data Bank ?

(A} Itisthe source of primary dam

(B) Provides efficient collection and curation of data

(C} Providescrystallographic and NME. structural dats

(3} Doesnot provide any validation server

Multiple Sequence Alignment is very often used for the following except ;

(A) Detecting similaritics between the sequences . (B)  Detecting conserved regions in the sequences

(C) Inferning evolutionary rees (D Predicting the quaternary structure of Sequences
Hyperchromic shift observed in a DNA sample reflects which of the following 7

(A) Denammation (B) Resatation

(C) Destruction (I} Precipitation

- ldentify the true statement for cukaryotic RNA polymerases

{A) Ttcansvnthesize all types of RNAs
(B) Itcansynthesize selective types ol RNAs depending oncell types
{C) There isaunique polymerase for cach type of ENA

(I3} Thereis one enzyme with various fimctional domains
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The Glimmer program for gene prediction isa:

(A} UNIX program from DDBJ (B) WINDOWS program from DDRI

(C) UNIX program from TIGR (D) WINDOWS program from TIGR

The GenBank sequence format flat file contains :

(A) Allthe informationin three sections (B) Allthe information intwo seCtinns

(Cy Alltheinformation inone section onky (19 Alithe information in varant nwmber of sections

A computer program to convert i source code in a programming language into machine language woi
be :

(A) Compiler (B) Controbier

{C) Coprocessor (D) Processor

Identify the group of databases which are exclusively specialized databases ;

{A) Flybase, GenBank, PubMed (B) Flvbase, AceDB, TAIR

{C) Flybase, GenBank, TrEMBL (D} Flybase, SWISS-PROT, PubMed

The Acronvm of the networking specification language COBRAIls:

{A) Common Object Request Broker Architecture (B} Common Object Relational Broker Architeciure
() Common Object Request Based Architecture (D) Common Object Relational Based Architeoture
The cytological maps are :

(A} The banding pattems of stains coloring cyinsols

(B} The banding patterns of stains coloring chromOsOMmes

(€C) The banding patterns of stains coloring cell membranes

(1) The banding patterns of stains coloring centrosomes

The Acronym of WORM in a computer system is :

(A) Writeonly Read Manny (B) Write once Read Many

(C) Write only Read Memory (D) Write once Read Must

The *ktups’ in FASTA database similarity search tool are:

(A) Short stretches of identical residucs withalength &

(B} Short stretches of identical residues witha length k—1{

(C) Shon stretches of identical residues with a length k= 1

(D) The knumber of stretches of identical residucs

A ¢DNA library contains :

(A} Some partof transcriptome information (By Complete transeriptome infonration

(C) Some genomic information (Dy Complete genomic information
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(Bloinformatics)|{Systeds Biology VBGL-31145-A B




a3,

4.

57.

39,

The low complexity regions in protein sequences are:

{A) Segments represented by N-terminal amino acid residues

(B) Segments represented by C-termnal amine acid residues

{C) Scgments overrespresented by a small number ofamino acid residues

(D) Segmentsrepresented by variant types of amino acid residucs

The protein structures from secondary to quaternary are maintained primarily by :
(A) Metallic forces (B} Coordinate forces

{C) Covalent forces (D) MNoncovalent foroes

Which of the following programs cannot be used for molecular structure visnalization 7
(A) Rasmal (B) Maolseript

(C) Grasp (D) CONPRO

- In the first trial of gene therapy, ADA therapy the patient was given :

{A) Lymphocyte transfected with ADA gene by simian viral vector

(B) Lymphocyte transfected with ADA gene by Adeno viral vector

(C) DLymphocyte transfected with ADA gene by retroviral vector

(D) Lymphocyte temsfected with ADA gene without any vector

Identily the false stztement in the following :

(A) RAMisatvpeot volatle memorny

(B) FAM requires a flow ofelectricity 1o retain data

(C) RAM isthe most common type of memory found in devices such as printers

(1) RAM isamemory, modules of which cannot be later added to make the computer faster
The graphical analysis of Phi-Psi angles for protein conformation is known as :

(A) Rgarsman plot (B) Rammujan plot

(C) Ramachandran plot (D) Ramaswarmi plot

Which of the following statements is not true for features of SWISS-PROT ?

(A) Tt provides core data (B) [Itprovides annotation of data

{C) Itprovides maximal redundant data (D) Integration with other database collections
The following tvpes of repetitive sequences can be used for INA fingerprinting, except :
(A) Variable Number Tandem repeats (B) Short Tandem repeais

{C) Simple sequence repeats (D) Oligopeptide repeats
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60, Which of the following reactions is common [0 the biosynthesis of Alanine and Aspartate s
(A) Transaminaton (B) Deamination
{C) Carboxylation (D) Decarboxylation
61. Apuoenzyme is that part of the enzyme :
(A) Polypeptide with prosthetic group orcolnctors
(B} Polypeptide without prosthetic group or cofactors
(C) Prosthetic group or cofictors only without polypeptide
(D) Prosthetic group only
62, Moenod-Wyman-Changeux (M W) eoncerted model are us ed o describe &
{A) Action of enzymatic reactions
(B) Action of regulatory molecules in modulating enzymatic action
(C) Action of folding accessory proteins in folding of macromolecules
(1) Action of regulatory molecules on folding accessory proteins
3. Shine Daloarno Sequences are present in :
(A} tRNA (B) tRINA
(C) mENA (D} snRNA
4. Amino acid substitution from normal haemoglobin to mutant Haemoglobin 518
(A) 6Glu—Lys (B} 6Glu— Val
(C)} 6Ghu—+Ala D) 6Glu—slle
65. Which of the following conditions prevail when denaturation of double stranded DNA occurs ?
{A) Breakage into short double stranded fragments
(B} Breakage of DN A hackbone
{C) Breakage of bases [rorn sugar phosphate backbone
{13) Breakage of hydrogen bonds between two strands to generate single stranded fragments
66. ldentify which of the following hormones is not secreted by pancreas @
(A) Insulin iB) Clucagon
{C) Somatostain (I Glucocorhicouds
67. In computational biclogy programmes, the logistic process of analyzing a string of symbols or te
eommonly called :
{A) Priming (B) Parsing
{C) Predicting (D) Pretexting
M.5c. {Two Year Coursc)-
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Edman degradation is the method to determine the sequence of ;

(A} Deoxyribonucleotides (B} Ribonucleotides

{C) Polypeptides (D} Lipopolveahharides

Whatis PERI, ?

() Practical Extraction and Report Leaming (B) Practical Extraction and Report Language

{C) Practice for Exclusive and Report Language (D) Practical Exelusive and Report Language
To resolve proteins on the basis of their molecular weight which of the followin g technigues can be
used 7

(A) Paperchromatography (B} A Hfinity chromatography

(€} Adsorption chromatography (D} Gel filtration chromatography
Identify the epimeric pair of sugars from following :

(A) Glueose and Fructose (B) Glucoseand Galactase

(€} Fructose and Mannose {1 Fructose and Galactose

The HAT selection media used for monoclonal anti body production would allow :
(A) Hybrid Cells to grow in the presence of antibjotic

(B} Hybrid Cells to grow in any other media

(C) Hybrid Cells to prow that can use salvage pathway of nucleatide biosynithesis

(D) Hybrid Cells to grow that cannot use sal vage pathway of nucleotide biosynthesis
Which of the following proteins have light and heavy chains in their structures 2

(A} Myogiobin (B) Alburmin
(C) Immunoglobulins (D} Trsulin

Taxa on a phylogenetic tree that zre descended from a single common ancestor =
{A) Monophvlectic (B) Monoplasty

(C) Monomeric {1 Monotomy

What does the UPGMA mean ?

(A) Unweighted Protein Group Method with Arithmetic M eans
(B) Unweighted Pair Group Method with Anthmetic Means
(C) Unweighted Partial Group Method with Ardthmetic Means
(D) Unweighted Perfect Group Method with Arithmctic Means
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